Bid #PNC2117500C1 - Reclaimed Water Transmission Main

Start Date Nov 14, 2018 4:24:16 PM EST Awarded Date Not Yet Awarded

PNC2117500C101-01 Base Bid: Bon	ds and Insurance				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$350,000.00	1 / lump sum	\$350,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes: Original Bid Bond Ma			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$702,869.45	1 / lump sum	\$702,869.45	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ric-Man Construction Florida, Inc.	First Offer - \$704,970.00	1 / lump sum	\$704,970.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$720,000.00	1 / lump sum	\$720,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Lanzo 👔	First Offer - \$750,000.00	1 / lump sum	\$750,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Man Con Inc.	First Offer - \$950,000.00	1 / lump sum	\$950,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
David Mancini & Sons, Inc.	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
IBT Construction, LLC [Ad]	First Offer - \$1,150,000.00	1 / lump sum	\$1,150,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

PNC2117500C101-02 Base Bid: Mobilization							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$349,000.00	1 / lump sum	\$349,000.00		Υ		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				
Ric-Man Construction Florida, Inc.	First Offer - \$603,508.00	1 / lump sum	\$603,508.00	Υ	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Lanzo 👔	First Offer - \$1,300,000.00	1 / lump sum	\$1,300,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc.	First Offer - \$1,359,842.00	1 / lump sum	\$1,359,842.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
IBT Construction, LLC [Ad]	First Offer - \$1,760,000.00	1 / lump sum	\$1,760,000.00	Υ	Y		
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:				

	County Commi	001011010		Page	2 of 23
Ric-Man Construction, Inc. [Ad]	First Offer - \$1,960,000.00	1 / lump sum	\$1,960,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		
David Mancini & Sons, Inc.	First Offer - \$2,241,000.00	1 / lump sum	\$2,241,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$2,257,000.00	1 / lump sum	\$2,257,000.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		

PNC2117500C101-03 Base Bid: Main	tenance of Traffic					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo 👔	First Offer - \$161,000.00	1 / lump sum	\$161,000.00		Υ	
Product Code:	· ·	Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$229,000.00	1 / lump sum	\$229,000.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$383,965.00	1 / lump sum	\$383,965.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$515,000.00	1 / lump sum	\$515,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$646,300.00	1 / lump sum	\$646,300.00	Υ	Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$1,000,000.00	1 / lump sum	\$1,000,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$1,045,000.00	1 / lump sum	\$1,045,000.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				
Man Con Inc.	First Offer - \$1,120,632.00	1 / lump sum	\$1,120,632.00		Υ	
Product Code:		Supplier Product (Code:			
Agency Notes:		Supplier Notes:				

PNC2117500C101-04 Base Bid: Furnish and Install 24 inch Ductile Iron Pipe Reclaimed Water Main, Class 250							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$230.00	14 / linear foot	\$3,220.00		Υ		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:				
David Mancini & Sons, Inc.	First Offer - \$256.00	14 / linear foot	\$3,584.00		Υ		
		Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$412.00	14 / linear foot	\$5,768.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Lanzo 👔	First Offer - \$450.00	14 / linear foot	\$6,300.00		Υ		
		Supplier Product Code: Supplier Notes:					
Man Con Inc.	First Offer - \$451.00	14 / linear foot	\$6,314.00	_	Y		
Product Code:		Supplier Product C	ode:				

	,			raye 3 01 23		
Agency Notes:		Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$455.00	14 / linear foot	\$6,370.00	Υ		
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$1,224.00	14 / linear foot	\$17,136.00	Υ		
		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$1,850.00	14 / linear foot	\$25,900.00	Y		
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117500C101-05 Base Bid: F	urnish and Install 30 inc	h Ductile Iron Pipe R	Reclaimed Water Mair	n, Class 2	250
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$209.00	90 / linear foot	\$18,810.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$220.00	90 / linear foot	\$19,800.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$275.00	90 / linear foot	\$24,750.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$282.00	90 / linear foot	\$25,380.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$339.00	90 / linear foot	\$30,510.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Man Con Inc.	First Offer - \$454.00	90 / linear foot	\$40,860.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Lanzo 👔	First Offer - \$550.00	90 / linear foot	\$49,500.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc. 👔	First Offer - \$565.00	90 / linear foot	\$50,850.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117500C101-06 Base Bid: Furnish and Install 42 inch Ductile Iron Pipe Reclaimed Water Main, Class 250							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$380.00	30460 / linear foot	\$11,574,800.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$393.62	30460 / linear foot	\$11,989,665.20		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Ric-Man Construction, Inc. [Ad]	First Offer - \$428.00	30460 / linear foot	\$13,036,880.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Lanzo 👔	First Offer - \$455.00	30460 / linear foot	\$13,859,300.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
IBT Construction, LLC [Ad]	First Offer - \$490.00	30460 / linear foot	\$14,925,400.00		Υ		
Product Code:		Supplier Product Code:					

,			Fage 4 01 23	
	Supplier Notes:			
First Offer - \$512.00	30460 / linear foot	\$15,595,520.00	Υ	
		ode:		
	Supplier Notes:			
First Offer - \$572.00	30460 / linear foot	\$17,423,120.00	Y	
	Supplier Product Code:			
	Supplier Notes:			
First Offer - \$578.00	30460 / linear foot	\$17,605,880.00	Y	
	Supplier Product Co	ode:		
	Supplier Notes:			
	First Offer - \$572.00	First Offer - \$512.00 30460 / linear foot Supplier Product Co Supplier Notes: 30460 / linear foot Supplier Product Co Supplier Product Co Supplier Notes: 30460 / linear foot Supplier Product Co Supplier Product Co Supplier Product Co Supplier Product Co	First Offer - \$512.00 30460 / linear foot \$15,595,520.00 Supplier Product Code: Supplier Notes: First Offer - \$572.00 30460 / linear foot \$17,423,120.00 Supplier Product Code: Supplier Notes: First Offer - \$578.00 30460 / linear foot \$17,605,880.00 Supplier Product Code:	

PNC2117500C101-07 Base Bid: Furni	sh and Install Ductile	Iron Pipe Compact	Fittings		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Man Con Inc.	First Offer - \$2,000.00	93 / ton	\$186,000.00		Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$5,024.00	93 / ton	\$467,232.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Lanzo 👔	First Offer - \$5,140.00	93 / ton	\$478,020.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$6,500.00	93 / ton	\$604,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,700.00	93 / ton	\$716,100.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$10,280.00	93 / ton	\$956,040.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$11,300.00	93 / ton	\$1,050,900.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$15,000.00	93 / ton	\$1,395,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117500C101-08 Base Bid: Furnis	sh and Install 12 inch	Gate Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Begus online IIc	First Offer - \$163.00	1 / each	\$163.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 12 inch cast iron flexible wedge motor driven gate valve				
Giannetti Contracting Corp.	First Offer - \$2,673.00	1 / each	\$2,673.00		Υ	
		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$3,000.00	1 / each	\$3,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3,100.00	1 / each	\$3,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

	County Co.	11111001011010		Page 5 of 23	
Man Con Inc.	First Offer - \$3,528.00	1 / each	\$3,528.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction, Inc. [Ad]	First Offer - \$3,780.00	1 / each	\$3,780.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$3,926.00	1 / each	\$3,926.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo 👔	First Offer - \$4,200.00	1 / each	\$4,200.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$5,000.00	1 / each	\$5,000.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117500C101-09 Base Bid: Furnis	h and Install 24 inch	Butterfly Valve				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$5,857.00	1 / each	\$5,857.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$6,900.00	1 / each	\$6,900.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,100.00	1 / each	\$7,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$7,400.00	1 / each	\$7,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$7,730.00	1 / each	\$7,730.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$8,750.00	1 / each	\$8,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$8,983.00	1 / each	\$8,983.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo 👔	First Offer - \$11,100.00	1 / each	\$11,100.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117500C101-10 Base Bid: Furnish and Install 42 inch Butterfly Valve							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Man Con Inc.	First Offer - \$15,709.00	24 / each	\$377,016.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$19,589.00	24 / each	\$470,136.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$19,709.00	24 / each	\$473,016.00		Υ		
Product Code:		Supplier Product C	ode:				

orani, oran			Page 6 of 23		
	Supplier Notes:				
First Offer - \$21,419.00	24 / each	\$514,056.00	Υ		
		ode:			
First Offer - \$23,000.00	24 / each	\$552,000.00	Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
First Offer - \$27,000.00	24 / each	\$648,000.00	Y		
	Supplier Product Code: Supplier Notes:				
First Offer - \$33,000.00	24 / each	\$792,000.00	Y		
	Supplier Product Code: Supplier Notes:				
First Offer - \$34,000.00	24 / each	\$816,000.00	Y		
	Supplier Product C Supplier Notes:	ode:			
	First Offer - \$21,419.00 First Offer - \$23,000.00 First Offer - \$27,000.00 First Offer - \$33,000.00	First Offer - \$21,419.00 24 / each Supplier Product C Supplier Notes: First Offer - \$23,000.00 24 / each Supplier Product C Supplier Notes: First Offer - \$27,000.00 24 / each Supplier Product C Supplier Notes: First Offer - \$33,000.00 24 / each Supplier Product C Supplier Notes: First Offer - \$33,000.00 24 / each Supplier Product C Supplier Notes: First Offer - \$34,000.00 24 / each Supplier Product C	First Offer - \$21,419.00 24 / each \$514,056.00 Supplier Product Code: Supplier Notes: First Offer - \$23,000.00 24 / each \$552,000.00 Supplier Product Code: Supplier Notes: First Offer - \$27,000.00 24 / each \$648,000.00 Supplier Product Code: Supplier Notes: First Offer - \$33,000.00 24 / each \$792,000.00 Supplier Product Code: Supplier Notes: First Offer - \$34,000.00 24 / each \$816,000.00 Supplier Product Code: Supplier Notes:		

PNC2117500C101-11 Base Bid: Furnis	h and Install 42 inch G	Sate Valve			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$69,052.00	5 / each	\$345,260.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
David Mancini & Sons, Inc.	First Offer - \$81,000.00	5 / each	\$405,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$85,000.00	5 / each	\$425,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$85,000.00	5 / each	\$425,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo 👔	First Offer - \$94,000.00	5 / each	\$470,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc.	First Offer - \$96,000.00	5 / each	\$480,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$100,000.00	5 / each	\$500,000.00		Y
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$103,833.00	5 / each	\$519,165.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:		

PNC2117500C101-12 Base Bid: Furnish and Install Air Release Valve with Maintenance Access Structure						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$7,700.00	32 / each	\$246,400.00		Υ	
		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$8,800.00	32 / each	\$281,600.00		Y	
		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$9,000.00	32 / each	\$288,000.00		Υ	

	County Com			Page / of 23	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$9,342.00	32 / each	\$298,944.00	Y	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$9,591.00	32 / each	\$306,912.00	Y	
		Supplier Product C Supplier Notes:	ode:		
Lanzo 👔	First Offer - \$10,000.00	32 / each	\$320,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$10,200.00	32 / each	\$326,400.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc.	First Offer - \$11,685.00	32 / each	\$373,920.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117500C101-13 Base Bid: Furnis	h and Install 42 inch	HDPE DR13.5 Pipe	through HDD			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$774.00	1211 / linear foot	\$937,314.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$808.00	1211 / linear foot	\$978,488.00	Υ	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes: 42" bores on references for Centerline complete.				
Ric-Man Construction Florida, Inc.	First Offer - \$910.00	1211 / linear foot	\$1,102,010.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,100.00	1211 / linear foot	\$1,332,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$1,160.00	1211 / linear foot	\$1,404,760.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo 👔	First Offer - \$1,230.00	1211 / linear foot	\$1,489,530.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$1,700.00	1211 / linear foot	\$2,058,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$2,182.00	1211 / linear foot	\$2,642,402.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			

PNC2117500C101-14 Base Bid: Furnish and Install 42 inch Ductile Iron Pipe Aerial Crossing						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$437,000.00	1 / lump sum	\$437,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$550,000.00	1 / lump sum	\$550,000.00		Υ	
Product Code:		Supplier Product C	Code:			

	,			raye o ui zo
Agency Notes:		Supplier Notes:		
David Mancini & Sons, Inc.	First Offer - \$550,000.00	1 / lump sum	\$550,000.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Ric-Man Construction Florida, Inc.	First Offer - \$615,137.00	1 / lump sum	\$615,137.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Man Con Inc.	First Offer - \$768,032.00	1 / lump sum	\$768,032.00	Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$794,000.00	1 / lump sum	\$794,000.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	
Lanzo 👔	First Offer - \$800,000.00	1 / lump sum	\$800,000.00	Y
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	Code:	
Giannetti Contracting Corp.	First Offer - \$850,000.00	1 / lump sum	\$850,000.00	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:	

PNC2117500C101-15 Base Bid: Fu	rnish and Install Master M	leter Assembly			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Begus online IIc	First Offer - \$88.00	1 / each	\$88.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
	11		Polymer Cold Water M	eter	
Giannetti Contracting Corp.	First Offer - \$70,000.00	1 / each	\$70,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:	11	Supplier Notes:			1
Man Con Inc.	First Offer - \$93,716.00	1 / each	\$93,716.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$102,000.00	1 / each	\$102,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$110,000.00	1 / each	\$110,000.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$111,347.00	1 / each	\$111,347.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$244,000.00	1 / each	\$244,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
Lanzo 👔	First Offer - \$275,000.00	1 / each	\$275,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$315,000.00	1 / each	\$315,000.00		Υ
Product Code:		Supplier Product C	Code:		
Agency Notes:		Supplier Notes:			

PNC2117500C101-16 Base Bid: Existing Utility Adjustment						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$482.00	25 / each	\$12,050.00		Υ	

	County Corr	IIIISSIOTIETS		Page 9 of 23	
		Supplier Product Code: Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$3,500.00	25 / each	\$87,500.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		
Ric-Man Construction Florida, Inc.	First Offer - \$5,710.00	25 / each	\$142,750.00	Y	
		Supplier Product C Supplier Notes:	code:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6,200.00	25 / each	\$155,000.00	Y	
		Supplier Product Code: Supplier Notes:			
David Mancini & Sons, Inc.	First Offer - \$6,900.00	25 / each	\$172,500.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Lanzo 👔	First Offer - \$7,000.00	25 / each	\$175,000.00	Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$12,250.00	25 / each	\$306,250.00	Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc.	First Offer - \$14,030.00	25 / each	\$350,750.00	Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
David Mancini & Sons, Inc. 👔	First Offer - \$10.00	1500 / linear foot	\$15,000.00		Υ
Product Code:		Supplier Product Code	ə:		
Agency Notes:		Supplier Notes:			
Giannetti Contracting Corp.	First Offer - \$13.00	1500 / linear foot	\$19,500.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$17.00	1500 / linear foot	\$25,500.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$20.00	1500 / linear foot	\$30,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Lanzo 👔	First Offer - \$20.00	1500 / linear foot	\$30,000.00		Υ
Product Code:		Supplier Product Code	e:		
Agency Notes:		Supplier Notes:			
Man Con Inc.	First Offer - \$25.33	1500 / linear foot	\$37,995.00		Υ
Product Code:		Supplier Product Code	9:	•	
Agency Notes:		Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$32.00	1500 / linear foot	\$48,000.00		Υ
Product Code:		Supplier Product Code	ə:		
Agency Notes:		Supplier Notes:			
Ric-Man Construction Florida, Inc.	First Offer - \$33.50	1500 / linear foot	\$50,250.00		Υ
Product Code:		Supplier Product Code	ə:		
Agency Notes:		Supplier Notes:			
Begus online IIc	First Offer - \$546.00	1500 / linear foot	\$819,000.00		Υ
Product Code:		Supplier Product Code	э:		
Agency Notes:		Supplier Notes:			
		Ductile Iron Pipe Pricing fo	r Drainage Pipes		

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$33.00	20 / linear foot	\$660.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$55.50	20 / linear foot	\$1,110.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$70.00	20 / linear foot	\$1,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$95.00	20 / linear foot	\$1,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$140.00	20 / linear foot	\$2,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc.	First Offer - \$211.00	20 / linear foot	\$4,220.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$350.00	20 / linear foot	\$7,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$401.00	20 / linear foot	\$8,020.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-19 Base Bid: Furnish and Install 42 inch Cured In Place Pipe Lining						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$351.00	3100 / linear foot	\$1,088,100.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$650.00	3100 / linear foot	\$2,015,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$694.68	3100 / linear foot	\$2,153,508.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$811.50	3100 / linear foot	\$2,515,650.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$814.00	3100 / linear foot	\$2,523,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$817.00	3100 / linear foot	\$2,532,700.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$820.00	3100 / linear foot	\$2,542,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$1,000.00	3100 / linear foot	\$3,100,000.00		Υ	
Product Code:		Supplier Product C	ode:			

Agency Notes: Supplier Notes:

PNC2117500C101-20 Base Bid: Additional Compensation for Excavation in Hard Rock							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
David Mancini & Sons, Inc.	First Offer - \$0.01	14920 / linear foot	\$149.20		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Man Con Inc.	First Offer - \$1.00	14920 / linear foot	\$14,920.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$1.00	14920 / linear foot	\$14,920.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$2.00	14920 / linear foot	\$29,840.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$3.60	14920 / linear foot	\$53,712.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
IBT Construction, LLC [Ad]	First Offer - \$3.75	14920 / linear foot	\$55,950.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Lanzo 👔	First Offer - \$5.00	14920 / linear foot	\$74,600.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Giannetti Contracting Corp.	First Offer - \$7.00	14920 / linear foot	\$104,440.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

DNOOTTEOOOT OF OUR DESIGNATION						
PNC2117500C101-21 Base Bid: Furnish		1				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$3.13	24000 / square yard	\$75,120.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$3.50	24000 / square yard	\$84,000.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$3.50	24000 / square yard	\$84,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$3.50	24000 / square yard	\$84,000.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
Lanzo 👔	First Offer - \$5.00	24000 / square yard	\$120,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$5.90	24000 / square yard	\$141,600.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$8.00	24000 / square yard	\$192,000.00		Υ	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
Man Con Inc.	First Offer - \$9.10	24000 / square yard	\$218,400.00		Υ	

Product Code:

Agency Notes:

Supplier Product Code:

Supplier Notes:

PNC2117500C101-22 Base Bid: Furnis	h and Install Limer	ock Base				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$17.50	24000 / square yard	\$420,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$20.00	24000 / square yard	\$480,000.00		Υ	
Product Code:		Supplier Product Co Supplier Notes:	ode:			
Giannetti Contracting Corp.	First Offer - \$21.40	24000 / square yard	\$513,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$25.50	24000 / square yard	\$612,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$26.00	24000 / square yard	\$624,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$31.00	24000 / square yard	\$744,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$33.00	24000 / square yard	\$792,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$36.90	24000 / square yard	\$885,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-23 Base Bid:			T	A	_	
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$19.00	24000 / square yard	\$456,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$20.00	24000 / square yard	\$480,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:			
Lanzo 👔	First Offer - \$20.00	24000 / square yard	\$480,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$23.00	24000 / square yard	\$552,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$25.62	24000 / square yard	\$614,880.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$26.00	24000 / square yard	\$624,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:			
Man Con Inc.	First Offer - \$33.25	24000 / square yard	\$798,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:	:			

				. ~9~	
Ric-Man Construction Florida, Inc.	First Offer - \$34.00	24000 / square yard	\$816,000.00		Υ
Product Code:		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

PNC2117500C101-24 Base Bid: Mill an	d Resurface Aspha	alt Pavement				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$10.45	49000 / square yard	\$512,050.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$12.00	49000 / square yard	\$588,000.00		Υ	
Product Code:		Supplier Product Co	ode:			
Agency Notes:		Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$13.00	49000 / square yard	\$637,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$13.00	49000 / square yard	\$637,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$14.90	49000 / square yard	\$730,100.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo 👔	First Offer - \$15.00	49000 / square yard	\$735,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$15.50	49000 / square yard	\$759,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$19.50	49000 / square yard	\$955,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-25 Base Bid: Furni	sh and Install Pavemer	nt Marking and Strip	ping			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$51,000.00	1 / lump sum	\$51,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
David Mancini & Sons, Inc.	First Offer - \$65,000.00	1 / lump sum	\$65,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$70,000.00	1 / lump sum	\$70,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$80,000.00	1 / lump sum	\$80,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$87,704.00	1 / lump sum	\$87,704.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$114,000.00	1 / lump sum	\$114,000.00		Υ	
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	code:			
Man Con Inc.	First Offer - \$178,725.00	1 / lump sum	\$178,725.00		Υ	
Product Code:		Supplier Product C	ode:			

Agency Notes:		Supplier Notes:		. ago	
Giannetti Contracting Corp.	First Offer - \$250,000.00	1 / lump sum	\$250,000.00		Υ
Product Code:		Supplier Product C	ode:		
Agency Notes:		Supplier Notes:			

PNC2117500C101-26 Base Bid: Furnis	sh and Install Type	F Curb and Gutter				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Lanzo 👔	First Offer - \$20.00	1000 / linear foot	\$20,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$23.50	1000 / linear foot	\$23,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$27.00	1000 / linear foot	\$27,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$29.00	1000 / linear foot	\$29,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$41.50	1000 / linear foot	\$41,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$45.00	1000 / linear foot	\$45,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$50.00	1000 / linear foot	\$50,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$88.00	1000 / linear foot	\$88,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$45.00	100 / square yard	\$4,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$54.00	100 / square yard	\$5,400.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$55.00	100 / square yard	\$5,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$75.00	100 / square yard	\$7,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$80.00	100 / square yard	\$8,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$89.00	100 / square yard	\$8,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$97.00	100 / square yard	\$9,700.00		Υ	
Product Code:		Supplier Product Co	ode:			

				. ugu	10 01 20
Agency Notes:		Supplier Notes:			
Man Con Inc.	First Offer - \$114.00	100 / square yard	\$11,400.00		Υ
Product Code:		Supplier Product Code:			
Agency Notes:		Supplier Notes:			

PNC2117500C101-28 Base Bid: Remov	e and Replace Exis	sting Wood Fence				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction, Inc. [Ad]	First Offer - \$35.00	50 / linear foot	\$1,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
IBT Construction, LLC [Ad]	First Offer - \$45.00	50 / linear foot	\$2,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$45.00	50 / linear foot	\$2,250.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$55.00	50 / linear foot	\$2,750.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$56.00	50 / linear foot	\$2,800.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$58.00	50 / linear foot	\$2,900.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$60.00	50 / linear foot	\$3,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$173.00	50 / linear foot	\$8,650.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-29 Base Bid: Remo	ve and Replace Exis	sting Chain Link Fend	ce			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
David Mancini & Sons, Inc.	First Offer - \$27.00	1500 / linear foot	\$40,500.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
IBT Construction, LLC [Ad]	First Offer - \$28.00	1500 / linear foot	\$42,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$28.00	1500 / linear foot	\$42,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$28.00	1500 / linear foot	\$42,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$30.00	1500 / linear foot	\$45,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction Florida, Inc.	First Offer - \$35.00	1500 / linear foot	\$52,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc.	First Offer - \$50.00	1500 / linear foot	\$75,000.00		Υ	

		Supplier Product Code: Supplier Notes:			rage 10 01 23	
	First Offer - \$60.00	1500 / linear foot	\$90,000.00		Υ	
Product Code:		Supplier Product Code: Supplier Notes:				

PNC2117500C101-30 Base Bid: Furnish and Install Limerock Maintenance Road							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Lanzo 👔	First Offer - \$11.00	5014 / square yard	\$55,154.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$12.00	5014 / square yard	\$60,168.00		Υ		
		Supplier Product Co Supplier Notes:	ode:				
IBT Construction, LLC [Ad]	First Offer - \$15.00	5014 / square yard	\$75,210.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$16.00	5014 / square yard	\$80,224.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$20.00	5014 / square yard	\$100,280.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc.	First Offer - \$21.50	5014 / square yard	\$107,801.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$22.00	5014 / square yard	\$110,308.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
David Mancini & Sons, Inc.	First Offer - \$36.00	5014 / square yard	\$180,504.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2117500C101-31 Base Bid: Furnish and Install Limerock Bicycle Path								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Lanzo 👔	First Offer - \$9.00	4000 / square yard	\$36,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Ric-Man Construction Florida, Inc.	First Offer - \$10.50	4000 / square yard	\$42,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
IBT Construction, LLC [Ad]	First Offer - \$15.00	4000 / square yard	\$60,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Ric-Man Construction, Inc. [Ad]	First Offer - \$19.00	4000 / square yard	\$76,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$20.00	4000 / square yard	\$80,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:						
Man Con Inc.	First Offer - \$20.00	4000 / square yard	\$80,000.00		Υ			
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

			Page 17 0123			
First Offer - \$28.00	4000 / square yard	\$112,000.00	Υ			
Product Code:		Supplier Product Code:				
	Supplier Notes:					
First Offer - \$44.00	4000 / square yard	\$176,000.00	Y			
		Supplier Product Code: Supplier Notes:				
	First Offer - \$44.00	Supplier Product Co Supplier Notes: 4000 / square yard	Supplier Product Code: Supplier Notes: First Offer - \$44.00 4000 / square yard \$176,000.00 Supplier Product Code:			

PNC2117500C101-32 Base Bid: Furnis	h and Install Aspha	alt Walkway				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Giannetti Contracting Corp.	First Offer - \$12.30	3910 / square yard	\$48,093.00		Υ	
		Supplier Product Co Supplier Notes:	ode:			
IBT Construction, LLC [Ad]	First Offer - \$14.00	3910 / square yard	\$54,740.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$17.00	3910 / square yard	\$66,470.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction Florida, Inc.	First Offer - \$19.00	3910 / square yard	\$74,290.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$32.00	3910 / square yard	\$125,120.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$41.00	3910 / square yard	\$160,310.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$42.00	3910 / square yard	\$164,220.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$47.00	3910 / square yard	\$183,770.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-33 Base Bid: Restoration of Canal Bank at NRWWTP						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$10.00	1500 / linear foot	\$15,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$16.00	1500 / linear foot	\$24,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$19.00	1500 / linear foot	\$28,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Man Con Inc.	First Offer - \$28.00	1500 / linear foot	\$42,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
David Mancini & Sons, Inc.	First Offer - \$30.00	1500 / linear foot	\$45,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Lanzo 👔	First Offer - \$38.00	1500 / linear foot	\$57,000.00		Υ	
Product Code:		Supplier Product Co	ode:			

Agency Notes:		Supplier Notes:		. ugo	10 01 20	
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$40.00	1500 / linear foot	\$60,000.00		Υ	
		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$45.00	1500 / linear foot	\$67,500.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C101-34 Base Bid: Restora	ation of Green Are	as					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
IBT Construction, LLC [Ad]	First Offer - \$4.75	12250 / square yard	\$58,187.50		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Lanzo 👔	First Offer - \$5.00	12250 / square yard	\$61,250.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$6.00	12250 / square yard	\$73,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				
Ric-Man Construction Florida, Inc.	First Offer - \$6.00	12250 / square yard	\$73,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Man Con Inc.	First Offer - \$8.40	12250 / square yard	\$102,900.00		Υ		
Product Code: Agency Notes:	•	Supplier Product Code: Supplier Notes:					
David Mancini & Sons, Inc.	First Offer - \$10.00	12250 / square yard	\$122,500.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$11.00	12250 / square yard	\$134,750.00		Υ		
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:					
Giannetti Contracting Corp.	First Offer - \$12.00	12250 / square yard	\$147,000.00		Υ		
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:				

PNC2117500C101-35 Base Bid: Remov	e and Dispose of E	xisting Trees			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction Florida, Inc.	First Offer - \$274.00	100 / each	\$27,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo 👔	First Offer - \$300.00	100 / each	\$30,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$372.00	100 / each	\$37,200.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
IBT Construction, LLC [Ad]	First Offer - \$400.00	100 / each	\$40,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Man Con Inc.	First Offer - \$420.00	100 / each	\$42,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$455.00	100 / each	\$45,500.00		Υ

Odditty O	orining storicis		Page 19	of 23
	Supplier Product Co	ode:	-	
	Supplier Notes:			
First Offer - \$470.00	100 / each	\$47,000.00		Υ
	Supplier Product Co	ode:		
	Supplier Notes:			
First Offer - \$925.00	100 / each	\$92,500.00		Υ
	Supplier Product Co	ode:		
	Supplier Notes:			
	First Offer - \$470.00	Supplier Product Co Supplier Notes: First Offer - \$470.00 100 / each Supplier Product Co Supplier Notes: First Offer - \$925.00 100 / each Supplier Product Co	Supplier Product Code: Supplier Notes:	Supplier Product Code: Supplier Notes:

PNC2117500C101-36 Base Bid: Furnis	sh and Install Florida	Number 1 Trees			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Ric-Man Construction, Inc. [Ad]	First Offer - \$405.00	200 / each	\$81,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$487.00	200 / each	\$97,400.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$500.00	200 / each	\$100,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$540.00	200 / each	\$108,000.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Man Con Inc.	First Offer - \$700.00	200 / each	\$140,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Lanzo 👔	First Offer - \$700.00	200 / each	\$140,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
IBT Construction, LLC [Ad]	First Offer - \$800.00	200 / each	\$160,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$1,100.00	200 / each	\$220,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

PNC2117500C101-37 Base Bid: Furnis	PNC2117500C101-37 Base Bid: Furnish and Install Reinforced Concrete Headwall Extension						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Ric-Man Construction Florida, Inc.	First Offer - \$3,436.00	1 / lump sum	\$3,436.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
Man Con Inc.	First Offer - \$7,777.00	1 / lump sum	\$7,777.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$14,000.00	1 / lump sum	\$14,000.00		Υ		
Product Code:		Supplier Product Code:					
Agency Notes:		Supplier Notes:					
Lanzo 👔	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Y		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					
IBT Construction, LLC [Ad]	First Offer - \$22,500.00	1 / lump sum	\$22,500.00		Υ		
Product Code:		Supplier Product C	ode:				
Agency Notes:		Supplier Notes:					

David Mancini & Sons, Inc.	First Offer - \$27,500.00	1 / lump sum	\$27,500.00		Υ
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:				
Ric-Man Construction, Inc. [Ad]	First Offer - \$31,300.00	1 / lump sum	\$31,300.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		
Giannetti Contracting Corp.	First Offer - \$35,000.00	1 / lump sum	\$35,000.00		Υ
Product Code: Agency Notes:		Supplier Product C Supplier Notes:	ode:		

PNC2117500C101-38 Base Bid: FURNISI	H AND INSTALL 7 I	NCH CONCRETE SLA	λB			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
Ric-Man Construction Florida, Inc.	First Offer - \$3.83	11000 / square foot	\$42,130.00		Υ	
		Supplier Product Code: Supplier Notes:				
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$6.60	11000 / square foot	\$72,600.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Man Con Inc.	First Offer - \$7.00	11000 / square foot	\$77,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
IBT Construction, LLC [Ad]	First Offer - \$8.00	11000 / square foot	\$88,000.00		Y	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Giannetti Contracting Corp.	First Offer - \$9.00	11000 / square foot	\$99,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$15.00	11000 / square foot	\$165,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
Lanzo 👔	First Offer - \$15.00	11000 / square foot	\$165,000.00		Y	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			
David Mancini & Sons, Inc.	First Offer - \$20.00	11000 / square foot	\$220,000.00		Υ	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:			

PNC2117500C102-01 Alternate Item: F		2 inch DIP Horizont:	al Directional Drill		
Supplier Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Giannetti Contracting Corp.	First Offer - \$886.00	1211 / linear foot	\$1,072,946.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Ric-Man Construction, Inc. [Ad]	First Offer - \$1,000.00	1211 / linear foot	\$1,211,000.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
Ric-Man Construction Florida, Inc.	First Offer - \$1,237.00	1211 / linear foot	\$1,498,007.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
RIC-MAN INTERNATIONAL [Ad]	First Offer - \$1,300.00	1211 / linear foot	\$1,574,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		
David Mancini & Sons, Inc.	First Offer - \$1,300.00	1211 / linear foot	\$1,574,300.00		Υ
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:		

1211 / linear foot

First Offer - \$1,700.00

Lanzo

Υ

\$2,058,700.00

Product Code Agency Notes			Supplier Product C Supplier Notes:	ode:	
Man Con Inc.	7	First Offer - \$3,000.00	1211 / linear foot	\$3,633,000.00	Υ
Product Code Agency Notes	- -	1	Supplier Product C Supplier Notes:	ode:	
IBT Construction	n, LLC [Ad]	First Offer - \$3,058.00	1211 / linear foot	\$3,703,238.00	Y
Product Code Agency Notes			Supplier Product C Supplier Notes:	ode:	•
			* #22	067.645.45	
Supplier Tot	als		^ \$22,	.867,645.45	
f RIC-MAN	INTERNATIONAL [Ad]		\$24,199	9,745_45_ (39/39 item	ns)
t	Hamill Andrade bid@ric-man.us Ph 9 54-426 -1042		Address 1545 N POMPA	W 27TH AVE NO BEACH, FL 33069	
Agency Note		1.1	Supplier Notes:		Head Attch:
*Item 01-1	3 was removed from the	bid.	1		A
Bid Allowance	\$22,867,645.45 plus	allowances \$604,9	30 50 total \$23,472	2,575.95	\$604,930.50
f Ric-Man C	Construction Florida, Inc.		\$24,997	,112.20 (39/39 items	s)
	John dalessandro		Address 3100 s		
	dlacross@ric-manfl.com Ph 954-426-1221		deerfie	ld beach, FL 33442	
Agency Note	es:		Supplier Notes:		Head Attch: 』
Bid Allowance					\$604,930.50
f Ric-Man C	Construction, Inc. [Ad]		\$25,364	,108.00 (39/39 item	s)
(Edward Mancini gdagostini@ric-man.com Ph 586-739-5210 Fax 586-739-8290			R. Mancini Drive g Heights, MI 48314	
Agency Note	es:		Supplier Notes:		Head Attch:
Bid Allowance					\$604,930.50
f Lanzo			\$27,778	3,274.00 (39/39 item	ns)
Bid Contact	Robert Beaty prajwala@lanzo.org Ph 954-979-0802 Fax 954-979-9897		Address 125 S Deerf	E 5 Ct ield Beach, FL 33441	
Supplier Code	e VC0000023787				
Bid Bond	(Status: Authorized on Ja	an 8, 2019)			
Agency Note	es:		Supplier Notes	:	Head Attch:
1					

	Co	ounty Commissioners	Page 22 of 23
Bid Allowance			
f Giannet	ti Contracting Corp.	\$29,610,605.00 (39/39 item	ıs)
Bid Contact	Bob Henning bob@giannetticorp.com Ph 954-972-8104	Address 1801 NW 18th St. Pompano Beach, FL 33069	
Agency No	etes:	Supplier Notes:	Head Attch:
Bid Allowance			\$604,930.5
f IBT Cons	struction, LLC [Ad]	\$32,961,377.50 (39/39 items	s)
Bid Contact	Keyvan Sangelaji estimating@ibtgroup.com Ph 305-358-5055	Address 1200 Brickell Ave #1700 Miami, FL 33131	
Bid Bond	(Status: Authorized on Jan 10, 2019)		
Agency No	etes:	Supplier Notes:	Head Attch:
Bid Allowance			\$604,930.5
f David M	ancini & Sons, Inc.	\$35,289,047.20 (39/39 item	ıs)
Bid Contact	Christopher Lazzari clazzari@dmsi.co Ph 954-895-0741	Address 2601 Wiles Road Pompano Beach, FL 33073	
Bid Bond	(Status: Authorized on Jan 11, 2019)		
Agency No	etes:	Supplier Notes:	Head Attch:
Bid Allowance			\$604,930.5
f Man Cor	n Inc.	\$35,566,671.00 (39/39 item	ıs)
Bid Contact	Penny Camarra Katel@mancon.ws Ph 954-427-0230	Address 3460 SW 11th Street Deerfield Beach, FL 33442	
Bid Bond	(Status: Authorized on Jan 9, 2019)		
Agency No	etes:	Supplier Notes:	Head Attch:
Bid Allowance			\$604,930.5
Begus on	line IIc	\$819,251.00	(3/39 items
Bid Contact	Begus Online begusonline@gmail.com	Address 2875 Northeast 191st Street 500	
	Ph 888-462- 6210	Aventura, FL 33180	
Agency No	ites:	Supplier Notes:	

No Bids

Lapin Services N/A